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1. When is the World Environment Day
observed ?

A. December 10
C. November 14

B. June 5
D. May 10

2. Which of the following is not a viral
disease ?
A. Chickenpox
C. Pneumonia

B. AIDS
D. Common cold

3. Itis not advisable to sleep under a tree
at night because of the
A. release of less oxygen

. release of more oxygen

. release of carbon monoxide

. release of carbon dioxide

4. What is Koodankulam known for ?
. Thermal power plant

. Biosphere reserve

. Port in Tamil Nadu

. Nuclear power plant

B
C
D
A
B
C
D

Directions to solve (5 -6):

In each of the following questions, two
statements numbered | and Il are given.
There may be cause and effect relationship
between the two statements. These two
statements may be the effect of the same
cause or independent causes. These
statements may be independent causes
without having any relationship. Read both
the statements in each question and mark
your answer as

A. If statement | is the cause and
statement Il is its effect

B. If statement Il is the cause and
statement | is its effect

C. If both the statements | and Il are
effects of independent causes

D. If both the statements | and Il are
effects of some common cause
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5. Statements:

The Reserve Bank of India has
recently put restrictions on few small
banks in the Country.

. The small banks in the private and

co-operative sector in India are not
in a position to withstand the
competitions of the bigger banks in
the public sector.

Statement | is the cause and
statement Il is its effect

. Statement Il is the cause and

statement | is its effect

Both the statements | and |l are
effects of independent causes
Both the statements | and |l are
effects of some common cause

6. Statements:

The prices of petrol and diesel in the
domestic market have remained
unchanged for the past few months.

. The crude oil prices in the

international market have gone up
substantially in the last few months.

. Statement | is the cause and

statement Il is its effect

. Statement Il is the cause and

statement | is its effect

Both the statements | and |l are
effects of independent causes

Both the statements | and Il are
effects of some common cause
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10.

11.

Who wrote the famous song “Sare Jahan
se Achcha Hindustan Hamara” ?

A. Rabindranath Tagore

B. Mohammed Igbal

C. Bankim Chandra Chatterjee

D. Quazi Nazrul Islam

. The gas used for artificial ripening of

green fruit is

A. ethylene

B. ethane

C. carbon dioxide
D.

acetylene

How many members of Rajya Sabha
can be nominated by the President from
amongst who have
distinguished themselves in art,
literature, social service etc ?

A 2 B. 10

C. 12 D. 15

persons,

How many seats are there in the Punjab
Legislative assembly ?
A 117 B. 118

C. 119 D. 120

Which of the following dance form is not
correctly matched ?

A. Haryana —Jhumar
B. Odisha —Chhau
C. Rajastan — Lavani
D. Assam — Bihu
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12. Which of the following is incorrectly

13.

14.

15.

matched ?

A. CRR - Cash Receipt Ratio

B. SLR - Statutory Liquidity Ratio

C. FDI  — Foreign Direct
Investment

D. NBFC - Non-banking Financial
Companies

Which city will host the Olympic games
in the year 2020 ?
A. Rome
C. Tokyo

B. Berlin
D. Doha

Identify the figure that completes the
pattern

C. D.

‘Rasidi Ticket’ (Revenue Stamp) is the
title of autobiography of which well
known author ?

A. Khushwant Singh

B. Amrita Pritam

C. Shiv Batalvi

D. Gurcharan Das
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16. A man spends % of his salary on house

rent, % of salary on food and % of his

salary on conveyance. If he has
Rs. 1,400 left with him, find his
expenditure on food and conveyance.

A. 1,000 B. 1,500
C. 1,250 D. 2,000

17 —19 : The bar graph provided below gives
the sales of books (in thousand numbers) from
six branches of a publishing company during
two consecutive years 2010 and 2011. Answer
the questions based on this bar graph.
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20 |
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0 a -
B1 B2 B3 B4 B5 B6

Branches

17. What is the average sale of all branches
(in thousand numbers) for the year 2010 ?

A. 73 B. 80
C. 83 D. 88

18. Total sales of branches B1, B3 and B5
together for both the years (in thousand

numbers) is
A. 250 B. 310
C. 435 D. 560

19. What is the ratio of the total sales of
branch B2 for both years to the total
sales of branch B4 for both years ?

A . 2:3 B. 3:5
C.4:5 D.7:9
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20.

21.

22.

23.

Which of the following is different from
the remaining three ?

A. Haematite B. Magnetite

C. Limonite D. Bauxite
Which of the following is not correctly
matched ?
A. Tabla — Alla Rakha
B. Sarod - Zakir Hussain
C. Santoor — Shiv Kumar Sharma
D. Flute — Hari Prasad Chaurasia
Give the correct chronological order of
the following
(i) Non-cooperation Movement
(ii) Quit India Movement
(iii) Salt Satyagraha
(iv) Partition of Bengal
A. (i), (iv), (iii), (i)
B. (i), (iv), (iii), (i)
C. (iii), (ii), (i), (iv)
D. (iv), (i), (iii), (ii)
The correct chronological order in which
the following states of India were created
is
i. Andhra Pradesh
ii. Maharashtra
iii. Punjab
iv. Nagaland
A. i, i, i, iv
B. i, ii, iv, iii
C. ii, i, iv, iii
D. v, iii, ii, i
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Direction for question 24

In each of these question, there are two or
three statements given, which are followed
by four conclusions numbered I, 11, lIl, IV. You
have to take the given Statements to be true
even if they seem to be at variance with
commonly known facts and then decide
which of the given conclusion (s) logically
follow (s) from the given statements.

24.

25.

26.

Statements :
i) Some boxes are dogs.

if) All dogs are pens.
Conclusions :

l. Some boxes are pens
Il. Some pens are boxes
lIl. Some pens are dogs

IV. All pens are dogs

A. 1,11, Nl follow
B. II, 11, 1V follow
C. L1, 1V follow
D. I, I, IV follow

Find the volume of a cuboid 16 m long,
14 m broad and 7 m high.

A. 1568 m3 B. 1792 m3

C. 1470 m3 D. 1680 m3

Which of the following is incorrectly

matched ?

A. Bandipur National — Karnataka
Park

B. Dachigam — Jammu &
National Park Kashmir

C. Kanha National — Odisha
Park

D. Kalesar National — Haryana
Park
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27.

28.

29.

30.

31.

First Indian Commander in Chief is
A. Gen. K.S. Timmayya

B. Gen. K.M. Kariappa

C. S.H.F.J. Manekshaw

D. None of these

Count the number of squares in the
following figure

B. 14
D. 9

A. 18
C. 10

Chemical name of baking soda is
A. calcium phosphate

B. sodium chloride

C. baker’s yeast

D. sodium bicarbonate

A school has 180 students. Among
them 150 speak English, 100 speak
Hindi, some students speak both
English and Hindi. How many of them
speak English only ?
A. 30

C. 80

B. 70
D. 100

Which of the following is not a
Constitutional post in India ?

A. Judge of High Court

B. Election Commissioner

C. Attorney General

D. Governor of a State
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32.

33

34.

35.

36.

Where is the Virasat-e-khalsa museum
situated ?

A. Anandpur Saheb

B. Fatehgarh Saheb

C. Ludhiana

D. Bathinda

There are five books a, b, ¢, d and e
placed on a table. If a is placed below e,
cis placed above d, b is placed below a
and d is placed above e, then which of
the following books touches the surface
of the table ?

A.c B. a

C. b D. e

The Black Death was one of the most
devastating pandemics in human history
that killed around 60% of Europe’s
population due to which of the following ?
A. Pneumonia

B. Plague

C. Smallpox

D. Tuberculosis

With which game is the word ‘Deuce’
associated ?
A. Badminton
C. Cricket

B. Basketball
D. Tennis

Which of the following is not correctly
matched ?

A. Article 14 - Right to equality

B. Article 18 — Abolition of
untouchability

C. Article 20 - Right against self
incrimination

D. Article 32 — Right to constitutional
remedies
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37.

38.

39.

40.

41,

42.

Sakshi can do a piece of work in 20 days.
Tanya is 25 % more efficient than Sakshi.
How many days will Tanya take to do
the same piece of work ?

A. 15 B. 16

C. 18 D. 25

FAG, GAF, HAI, IAH,
A. JAK B. HAL
C. HAK D. JAI

The area of a square field is 625 mZ.
What is the cost of fencing it at¥ 25 per
meter ?

A. X250
C. 2,500

B. 32,000
D. ¥ 500

In a row of girls, Chetna is 7t from the
right and Neelam is 15t from the left. If
both of them exchange their positions,
then Chetna becomes 20t from the right.
How many girls are there in the row ?
A. 26 B. 21

C. 35 D. 34

How many 3 digit numbers can be
formed using the numbers 6, 1, 2, 3
without repetition ?
A. 36
C. 18

B. 24
D. 12

If in a certain code, LUTE is written as
MUTE and FATE is written as GATE
then how will BLUE be written in that
code ?

A. CLUE

C. FLUE

B. GLUE
D. SLUE
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43.

44

45.

46.

47.

Which of the following is incorrectly

matched ?

A. Bhabha Atomic Research Centre —
Trombay

B. SHAR Centre Sriharikota -
Andhra Pradesh

C. Semi-Conductor Laboratory —
Chandigarh

D. Vikram Sarabhai Space Centre —
Bengaluru

Out of the following which contributes the
minimum amount to the Government’s
tax revenue ?

A. Central excise

B. Income tax

C. Wealth tax

D. Customs

‘Kyoto Protocol’ is related to which
one of the following areas ?

A. Environment
B. Human Rights
C. Disarmament

D. International Trade

(a6 2
Simplify algebraically )
a

A. a B. a2

C. a* D. a*

Pipe A can fill a tank in 5 hours, Pipe B
in 10 hours and Pipe C in 30 hours. If
all the pipes are open, in how many
hours will the tank be filled ?
A 2 B. 25
C.3 D. 3.5
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48. A thermostat is a device for
A. Switching off electric appliances
B. Measuring temperature
C. Regulating temperature
D. Producing heat

49. The number of chromosomes in a
normal human body cell is
A. 43 B. 44
C. 45 D. 46

50. Which is the capital of Lakshdweep

Islands ?
A. Kohima B. Port Blair
C. Puducherry D. Kavaratti

51. How many animals are seen in India’s
national emblem ?
A 4
C.6

B.5
D. 7

52. A man walks 5 km towards south and
then turns to the right. After walking
3 km he turns to the left and walks
5 km. Now, in which direction is he from
the starting place ?

A. West
C. North-East

B. South
D. South-West

53. Inthe first 10 overs of a cricket game, the
run rate was only 3.2. What should be the
run rate in the remaining 40 overs to reach

the target of 282 runs ?
A. 6.25 B. 6.5
C. 6.75 D. 7
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54.

55.

56.

57.

Which of the following is not a Harappan
site ?

A. Kalibangan
C. Lothal

B. Ropar
D. Kapurthala

The westerly disturbances causing winter
rains in northern India originate in

A. the Himalayas

B. the Arabian Sea

C. the Indian Ocean

D. the Mediterranean Region

A man sells calculator at the rate of
% 560 each which includes 12 % profit.
What amount of profit will he earn in
15 days if he sells 8 calculators per day ?
A. 8,000 B. 31,200
C. 37,200 D. 36,000

It takes much longer to cook things in
the hills than in the plains, because

A. Due to low atmospheric pressure in
the hills the boiling point of water is
raised, and therefore water takes
longer to boil

B. Inthe hills the atmospheric pressure
is lower than in the plains and
therefore water boils at lower
temperature

C. In the hills the atmospheric
temperature is low and therefore a lot
of heat is lost to the atmosphere

D. In the hills the humid atmosphere
absorbs a lot of heat, leaving very
little for cooking
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54. I fefimi &5 fagdt ggur 38 ©F /T
&I 37
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C. 383

B. Juz
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D. 6000 gug
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58.

59.

60.

61.

62.

Under National e-Governance Plan,
what is SWAN ?

A. State Wide Area Network

B. Systems Wide Area Network

C. State Wise Area Network

D. Systems Wise Area Network

The Chairman of Rajya Sabha is

elected by

A. Members of Rajya Sabha

B. Members of Lok Sabha and Rajya
Sabha

C. Members of Lok Sabha, Rajya Sabha
and State Assemblies

D. Elected members of Lok Sabha and
Rajya Sabha

Scalding with steam is more severe than
scalding by boiling water because of
which of the following ?

A. Steam can penetrate the skin

B. Steam is at a higher temperature

C. Steam contains more energy than
boiling water

D. Steam is at a higher pressure

The process responsible for enormous
energy in the sun is

A. Nuclear fusion

B. Nuclear fission

C. Burning of gases

D. As yet unknown

Who laid the foundation of Amritsar City ?
A. Guru Arjan Dev

B. Guru Ram Das

C. Guru Nanak

D. Guru Gobind Singh
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A. State Wide Area Network
B. Systems Wide Area Network
C. State Wise Area Network
D. Systems Wise Area Network
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63.

64.

65.

66.

67.

A person crosses a 600 m long street in
5 minutes. What is his speed in km per

hour ?
A. 3.6 B. 7.2
C. 84 D. 10

The boundary between India and
Pakistan was demarcated by

A. Mountbatten

B. Cyril Radcliffe

C. Macmohan

D. Stafford Cripps

When humidity is expressed as a
percentage, it is called

A. percentage humidity
B. relative humidity

C. specific humidity
D.

absolute humidity

In a certain code, language, ‘1, 2, 3
means ‘bright little boy’, ‘1, 4, 5 means
‘tall big boy’ and ‘6, 3, 7 means ‘beautiful
little flower’. Which numerical in that
language means ‘bright’ ?

A 7 B. 2

C. 6 D. 5

Which of the following river falls into
Arabian Sea ?

A. Godavari B. Krishna

C. Cauvery D. Narmada
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68.

69.

70.

71.

72.

The ‘stones’ formed in the human
kidney consist mostly of

A. sodium acetate

B. magnesium sulphate
C. calcium

D. calcium oxalate

In a group of cows and hens, the number
of legs are 14 more than twice the
number of heads. The number of cows
is

A.5 B.7

C. 10 D. 12

Choose the correct alternative word
which is having the same relation with
the given pair

Commodore : Navy : : Brigadier : ?

A. Captain

B. Commander

C. Air Force

D. Army

Who proposed the Preamble before the
drafting committee of the Constitution of
India ?

A. Jawaharlal Nehru

B. B.R. Ambedkar

C. Mahatma Gandhi

D. B.N. Rau

Which hurricane has recently caused
massive damage in Haiti ?

A. Katrina B. Matthew

C. Wilma D. Andrew
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D. Andrew



P51P - 2016

73.

74.

75.

76.

The term PVC used in the plastic
industry stands for

A. polyvinyl carbonate

B. polyvinyl chloride

C. phosphovinyl carbonate

D. paravinyl chlorobenzene

Some of the measures suggested to

curtail inflation are

i. Restricting public expenditure

ii. Mopping up increased liquidity
through taxation or savings

iii. Strengthening public distribution
system

Which of the above statements are

correct ?

A. i andiii

C. iandii

B. ii and iii
D. i, ii and iii

Which of the following Indian State has
the highest forest cover ?

A. Arunachal Pradesh
B. Chhattisgarh

C. Madhya Pradesh
D. Maharashtra

Sadashiv remembers that Sanjay’s
birthday is certainly after January 12 but
not later than January 16. If Meher
remembers that Sanjay’s birthday is
before January 17 but not before
January 13, on which of the following
day was Sanjay’s birthday ?

A. 14

B. 15

C. 16

D. Cannot be determined
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77.

78.

79.

80.

81.

82.

The famous bronze figurine ‘Nataraja’
belonging to the Chola period depicts
which Hindu deity in dancing form ?
A. Ganesh B. Krishna

C. Durga D. Shiva

Which Indian State has borders with
three countries namely Nepal, Bhutan
and China ?

A. Arunachal Pradesh

B. Meghalaya

C. West Bengal

D. Sikkim

One third of Gowri’s marks in History
equals her marks in Geography. If she
obtained 160 marks in the two subjects
together, how many marks did she get in

Geography ?
A. 60 B. 30
C. 40 D. 90

The Nobel Prize for literature has
recently been awarded to

A. Salman Rushdie
B. Arundhati Roy
C. John Green

D. Bob Dylan

The Headquarters of BRICS are located
in

A. Shanghai
C. Moscow

B. Beijing
D. Durban

With how many Indian State does
Punjab share its borders ?

A. 5 B. 4
C. 6 D. 3
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83.

84.

85.

86.

87.

In an open ground, Rakesh walks
20 metres towards north, takes a left
turn and walks 40 metres; again takes
a left turn and walks 50 metres. How far
is he from the starting point ?

A. 110 metres B. 70 metres

C. 50 metres D. 40 metres

Which of the following is incorrectly

matched ?

A. Brahmo Samaj — Rajaram Mohan
Roy

— Swami Dayanand
Saraswati

C. Young Bengal — Henry Vivian

B. Arya Samaj

movement Derozio
D. Prarthana — Ishwar Chandra
Samaj Vidyasagar

Which of the following Schedules to the

Constitution is incorrectly matched ?

A. Schedule 7 — Union list, State
list and Concurrent
list

B. Schedule 8 — Languages

C. Schedule 10 — Disqualification on
defection

D. Schedule 11 — Land reforms

100="2

A. 0 B. 100

C. 10 D. 1
6

Simplify algebraically : 35

A. a2 B. a

C. a' D. a
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88.

89.

90.

91.

92.

Which is the currency of Bangladesh ?

A. Taka B. Dinar
C. Ringit D. Dirham

Which of the following cricketers has hit
6 sixes off an over in an international
cricket match ?
A. Virat Kohli

C. M.S. Dhoni

B. Yuvraj Singh
D. Rahul Dravid

Which of the following is a bulwark of
personal freedom ?

A. Mandamus

B. Certiorari

C. Quo Warranto

D. Habeas Corpus

Which of the following is not correctly
matched ?

A. Hockey — Sunil Chhetri

B. Weight lifting — Karnam
Malleswari

C. Wrestling — Yogeshwar
Dutt

D. Shooting — Gagan Narang

The Reserve Bank of India (RBI) acts
as a banker’s bank. This would imply
which of the following ?
1. Other banks retain their deposits with
RBI
2. The RBI lends funds to the
commercial banks in times of need
3. The RBI advises commercial banks
on monetary matters
Select the correct answer using the
code given below :

A. 2. and 3 only
C. 1 and 3 only

B. 1 and 2 only
D. 1,2and 3
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93.

94.

95.

Who administers the oath of office to the
President of India ?

A. The Chief Justice of India
B. The Prime Minister

C. The Vice President

D. The Army Commander

Pointing to a man, a woman said “the
daughter of his father is the only
daughter of my mother”. How is the
husband of that woman related to that
man ?

A. Sister’'s husband

B. Father

C. Son-in-law

D. Son

A, B & C are on a trip by a car. A drives
during the first hour at an average speed
of 50 km/hr. B drives during the next
2 hours at an average speed of 48 km/hr.
C drives for the next 3 hours at an
average speed of 52 km/hr. They
reached their destination after exactly
6 hours. Their mean speed was

A. 50 km/hr

1
B. 50 § km/hr

1
C. 51 § km/hr

D. 52 km/hr
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96.

97.

98.

99.

100.

If + means x, x means +, + means —
and — means - find the value of
16x3+5-2+4
A. 9

C. 19

B. 10
D. 15

What are Open Market Operations ?

A. Activities of SEBI-registered brokers

B. Trading in securities by RBI

C. Issue of gilt-edged securities by
Government

D. Sale of shares by Flls

Radiocarbon dating is a technique used
to estimate the age of

A. Rocks
B. Soil
C. Fossils

D. Buildings

Participation of women in workforce in

India is
A. 25% B. 15%
C. 32% D. 9%

Which of the following is incorrectly

matched ?

A. Growth hormone — Pineal gland
B. Bile — Liver

C. Insulin — Pancreas
D. Oestrogen — Ovary
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97.
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99.

100.
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A9 =+ TH3BH x J, x & H3BH + I,
+ T HIBH - I3 - T H3BH +~ I 3
16x3+5-2+ 4T HBUITII

A 9 B. 10
C. 19 D. 15
yor garg Frgee ot 9%

A. SEBI| &% TJH ©8'& T a4
B. RBI @8 AH&3T T 2Ug

C. AIIJ B % ot AHa3"
Aot II&T

D. Flls €8 Pwat <t feadt

IAE Fags 3 g Iada I 7
fa I5 e &9 fam & 6Hg T wier
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A. gerat
B. fifdt

C. ygge
D. forg3t

III @ IIATS &9 wigst o A<t 3

A. 25% B. 15%

C. 32% D. 9%

famr 3 2

A. T IonRs - Uiehs JfEr
B. fifzr - fmee
C. fogfes e
D. grdrs - wizam
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